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I'[Given %=xy+y2,y(0)“— Ly (0.1) - 11169,y (0.2) = 12773, y ©03)- 15049, | 8] | |
Compute y (0.4) using Milne’s Predictor-Corrector method. conp i I
2 |Employ Taylor’s series method to obtain the approximate value of y at x = 0.2 171l coal \
considering terms upto the third degree for the differential equation :‘; = 2y — 3e”*, \ L3 1‘
‘L [0 =0. [ B
3 Using the Runge-Kutta method of tomlh ordu find y (0. 7) given lhat — ;’:; ) 171 \ COo4 \ 13 3!‘
y(0.1) = 1.0912, taking h = 0.1. L S - |
Given —== —xy?2, y(0) = 2. Compute y (0.2) with h = 0.1 using Euler’s modified 17} ‘\ CO4 | N
Jmethod. Perform two modifications in each stage B \1 j
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Prove that the subset {W = (x,y, z)|ax + by + ¢z = 0; X, y, z € R} of the vector

M \co.x \ L3 \

space R3 is a subspace of R3.
Determine whether the following vectors are linearly independent or not. [71] CO3 | L2
x; =(1,2,4),x, =(1,0,0), x3 =(0,1,0),and x, = (0,0,1) in R3.
Verify the rank-nullity theorem for the linear transformation T: V3(R) - V3(R) defined | [7) | CO3 | L3
by T(x,v,2) = (x + 2y —z,y + z,x + y — 2z). Also, find range space and null space.

[7] | co3 | 12

Define an Inner Product Space. Consider f(t) = 4t + 3 and g(t) = t2, the inner

product < f,g > = [ f(t)g(t)dt.Find < f,g >.
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